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Estimate of Regression02 —|

Indapendent atiribude (continuous): Selfcare
Depandant attribute {continuous): SubjHappns

Independent attribute: Selfcare

Dependent attribute: SubjHappns
Sample count: 70

Equation of least-squares regression line:
SubjHappns = 0.198418 Seifcare + 0.7T055
Correlation coefficient, r = 0.716582
r-squarad = 0.51350, indicating that 51.350% of the vanation in SubjHappns is accounted for by Selfcare.

The best estimate for the slope is 0.196416 +/- 0.048263 at a §5 % confidence level. (The standard error of the slope is
0023184 }

When Selfcare = , the predicted value for a future obsarvation of SubjHappns is 0.770551 +/- 3.03529.
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L Second Attributo (continuous) SubjHappns
41 2
b B Samiple count: T0
3 The cbserved correlation between Selfcare and SubjHappns is 0.718582
B Mull hypothesis: The population correlation is 0. P '
&4 (N Alternative hypothesis: The populaton correlation is ML JT...L-'L e 0.
r__
I _E_ The test stafistic, Student’s t, is 3.4T2. There are 68 degrees of freedom (bwo less than the sample size).
45

Hnmmﬁmﬂumﬁummmtuﬂ[ﬂmnullhrpwm}.mdtl’umphngprmm

,Mfﬂmw the probability of getting a value for Student's t 11, com abee (ule Wi
| = would be < 0.0001.
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Second attribute (categorical}: SubjHappns <L Ty - NOdgplind et Ci
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Warning: 374 out of 374 cells have expected values less than §.
Alternative hypothesis: There is an associaton between Selfcare and SubjHappns
The test statistic, chi-square, is 384.9, There are 330 degrees of freedom (the number of rows minus one times the number of columns minus ona),

If it were true that Seifcare were independent of SubjHappns (the null hypothesis), and the sampling process were performed repeatedly, the probability of getting a value for chi-square this great or greater
Ao D 0L 008y

The numbers in parentheses in the table are expected counts.
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would be 0.0081,
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